1. LAKEHKAOLBKE

{TBRX 5k KX K & By 5
FE = = (B)/(A)
F# A0 A0 (A) F# A0 (B)
SRR 29 fE BE 6,057 16,485 16,271 5,995 15,971 98.2
R 304EFE 6,057 16,174 15,982 5,979 15,682 98.1
SHTEE 6,010 15,804 15,628 5,984 15,303 97.9
SH2EE 5,994 15,433 15,255 5,977 14,930 97.9
SHIFE 5,985 15,110 14,952 5,929 14,627 97.8
FTBREBAOREREXRSRICHAEAZZELZSH-AOTHS,
2. FTAKEBARKR
eE | SHER $§%§E{ EEE&_MEIZH ikiﬁﬁﬁﬁ%ﬁﬁiﬁ
miR F# A0 F# N =|
294 B 445 307 276 2,754 7,010 1,912 4,682
T R30LEE 445 276 276 2,779 6,951 1,961 4,689
SHTEE 445 276 276 2,755 6,820 1,838 4,729
FH2EE 445 276 276 2,865 7,009 1,916 4,865
SHIEE 445 276 276 2,845 6,918 1,922 4,880
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(Bf:F, A, %)

1A1H 1H =
BARAR | BAERKE | TOAKE

(%) (m®) (m?)
311 4,971 1,563,058
321 5,042 1,575,832
340 5,204 1,543,553
340 5,070 1,532,380
334 4,887 1,502,558

'8 ETKERLKEHE

(Bifi:ha, B, A, %, m%)

TREREE KL= nEE
LH4EE | FEBT | FH Ao |(1B&RY)
62.0 89.9 69.4 66.8 1,451
62.0 100.0 70.6 67.5 1,713
62.0 100.0 66.7 69.3 1,486
62.0 100.0 66.9 69.4 1,520
62.0 100.0 67.6 70.5 1,484

'8 ETKERTKEH
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